
SBL 0302 Salon Bridgekerho

2023-04-12  Rabbit-23-04-12 Lopputulos
4 pöytää, 8 paria. Jakomäärä: 18. Keski: 54,0. Keskimäärinen tasoitus: 12,5.

Sija Pari Pisteet % Nimi VP/h VP/s VP Tas% Tas J-ID Kerho

1 7 64,1 59,4 Anna-Liisa Hiuspää - Arja Niskanen 5 5 5 11,0 14,2 0,1 2918 2956 Salon Bk
2 1 60,5 56,0 Jari Hilska - Janne Blomqvist 3 3 3 6,8 13,4 -2,5 1883 2840 Salon Bk
3 4 59,4 55,0 Elise Jauros - Outi Yrttiranta 17,0 16,1 4,4 1761 2746 Salon Bk
4 8 53,7 49,7 Riitta-Liisa Mäkelä - Marko Mäkinen  17,0 -4,3 1318 2070 Salon Bk
5 3 52,9 49,0 Riikka Sajaniemi - Tuomo Sajaniemi 17,0 4,9 3184 2979 Salon Bk

6 2 51,0 47,2 Timo Mäkelä - Jyrki Happonen  10,2 -8,0 1319 1393 Salon Bk
7 6 50,3 46,6 Jaakko Viima - Matti Rintala 16,0 16,9 4,3 2080 3024 Salon Bk
8 5 40,1 37,1 Taisto Louhikoski - Matti Alanko 11,6 15,4 1,1 2741 2736 Salon Bk
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